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Y910 FTIYY TAY PRY AP AnYn RPX — But now it would appear that
a 7P without an accompanying claim, etc. should be a 7p1m.

Overview

mooIn previously explained' that (in order to understand the question 17 *X
"2 noyoan mw 7Y 1"R D1 Tvnn W we have to interpret that) the inference
from 7y MW is that three years establishes a 7p17. We consider the field in
the possession of the P11, Generally when there 1s a dispute between 72I1X7
YR over an object; NYAW claims that he bought it from 3j2%7; however
72187 maintains that he never sold it to 1w»nw (and 2187 can prove that he
originally owned the object) the rule is that the person who is not in
possession of the object must prove his case. If 12187, the alleged seller, is in
possession, then NYAw must prove that he bought it from 121X7; if Nyaw, the
alleged buyer, is in possession then 21X has to prove that he did not sell it
to Nynw. The same rule should apply to vpap. However it is difficult to
establish who is in possession of the ¥7p (they can both be standing in the
field, etc.). This is the rule of P11, which we derive from 73 mn MW that
whoever was in the field for the last three consecutive years is considered
the p1mn, He is in possession. The other party, the 2y7yn, must prove his
case that he did not sell the field to the prmn.

It would seem obvious, however, that if someone is in possession of an
article and another person (proves that it was his and) claims that he never
sold it; then if the P 1mn argues that it should be his, merely because he is in
possession of this article, it would be a ludicrous claim. The fact that he is in
possession may deem him to be a thief, but does not confer upon him any
rights of ownership. The only way that a p>1mn can claim ownership is if he
argues that he bought the article from the (known) original owner (or it was
gifted to him, etc.) Similarly by ¥pp, if one is established as a P1m%; and
claims that he bought it, that necessitates the wv7vn to prove otherwise.
Possession by itself however, gives one no right to anything that was known
to have belonged to someone else previously. Mo0In questions: If the 7%
from 7y MW is that three years merely establishes the P> as a p1mn, that
1s no reason that he should be awarded the ¥p7p without a 71vv (claim).

mooIn has a question:

TwpnT N7 KPYe an awon — It is incomprehensible! What did the
questioner think when he asked that a 7awv 7y PRW 710 should be a valid apim?!

! See previous 7v 7"7 'oWn.
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79792 »PIRY vx» 90977 — for how is it possible to place the property in
question in the possession of the p>1» and give him ownership —

“79% PPV K97 1195 — since he is not claiming anything. He does not claim that
he bought the property or that it was gifted to him, He merely states that he is living there
for three years and no one bothered him. That does not give him any right to the property.
We know for certain that the 7y7v» was the original owner. How was that ownership
transferred to the P11 ? He neither claims that it was bought by him nor gifted to him. It
should remain in the possession of the 7yyn — the original owner!

ND0IN answers:

Tv92 95777 Y2 w1 — one can say that this is what the X3 is asking:

TV MWR N9OT 192 — since you are driving the rule of 021w '3 npii from a
TYMAT MY, therefore” we can say as follows —

ani? in» — just as there by w7 1w -

731 NPTAR 99T NIoal whwa — by goring three times the ox is an established
goring ox —

>»1 8277 — here too by 01w '3 npin

2w whw 79587 190 — since the P tn consumed the produce for three
years —

7o XYY — and the original owner did not protest —

T WY ROW nptna RO — it is established that he will never protest
again3; meaning that he is relinquishing his interest in this property —

Yow R7n o»1 v X932 — and therefore even without a claim it should
belong to the *p>rnn —

% brnw awmb 32 nxT — for we should assume that the original owner
forfeited to the *p>1rn the rights of the property.

* If the purpose of a 7Pt is to establish the P°1rn as a i, that he is in possession, then obviously if it is a
7YY Y PRY AP0, it would be a meaningless fipin, for there is no claim. However according to this X773,
the 7% from 77 MW, is that we are establishing the status (of the 1w and) of the 2wvn. The “yvn by
not being 1M for three years is conceding ownership; therefore, as m»o1N continues, there is reason to
argue that even a 71w 7ny XY 7p10 is sufficient to place the field in the possession of the po1mn.

? See previous 7¥ 71"7 'o1n. Even though, the q57yn is protesting now; nevertheless at the end of the third
year, when he did not protest, it became W nmn° X9Ww NP3, so at that point he relinquished his rights to the
property, and was "2m' the property to the n1? then. Afterwards he can no longer renege on this '17m»".

* It would seem that the two questions of the X723; the question of T¥77 M 7 % and the question ANYH KoK
pn are sort of a qwo1 inn. If the 7% from 7v17 MW is to establish the p>1nn as being in possession, then
just as by v W the new status is achieved only by n°¥"27 nn a3, then by pi the status of possession
should be accomplished only in the fourth year. If, however, the T2°? from 79177 W is that the qv1y» is

T 1R RPW npina, that this proves that he is conceding ownership; then even a m1vv 74y PRY 1pm should
also be sufficient.

> There is an inherent difficulty with this answer. It is generally assumed that ownership of property cannot
be transferred through 7%°nn. Even if the owner would state specifically T am mn this property to you, there
would be no transfer of property even if a 137 was made. The prevailing view amongst many of the
commentaries is that since the p>11» was silent for three years it indicates that he is relinquishing all his
rights to this property, and it is considered as if he is gifting it to the P>1m and telling him 321 pri7 5.

2

TosfosInEnglish.com



TPTR INYA XOR "7 '0n 2,n0 2" .7"0a

moon offers another explanationG:

7992 RPT X7 921 98 — Perhaps we can also answer as follows: that which the
X3 asks —

TP RN TIYVR KPR apnT Xw — ‘do you mean to say that a mpm
without a claim should be a valid P17’ it does not mean that the »>mm» has no
claim at all. If that were the case it would be unthinkable that it should be considered a
7P, but rather 7Ivv 70y PRY 1PN here means —

799 T7RT 1A 19957 — that for instance the 271117 said to the original owner — the
VAN —

7919 73317 7033t KoI9en — “I bought it from someone who bought it from
y0u’8. This is what the Xm0 refers to as a *7wp any RY 7R3, The R0 asks that in this
case the p°1i should be believed —

7327 9797 P AR K97 23 BY IN — even though the P 1nn did not say that the
individual from whom I bought the field, bought it from you (the “y7y») in

my presence. If the pmnn would have claimed that he (the P1in) purchased the field
from 72387 (his 71212) and the 17 also claims that he was present when 72X purchased
the field from the 2y vn, then it would be a 71vv fny wow P, since the P claims that
he knows for sure that his 721 bought the field from the 7¥7vn and subsequently sold it to
him (the p»mn). However in our case the 1n does not claim that 7121 77 *»p. In
addition, we are discussing a case where —

72 97 891 — the alleged 121 who sold it to the P>t did not live there (in the
house or field) —

1913 711 Y9928 — for even one day. The p>1n cannot prove that his 7w lived in the
house of the 7y7¥» for even one day. If the p°1mn can bring 2°7¥ that his 70 lived in the
house of the 7y7vn for (even) one day, then it is considered a 71yv 77y ww 710 and the
P inn is entitled to the property. The reason for this is that since we know that the 751
lived in the house, therefore the 117 is considered a bona fide buyer. The rule is that
172 A, we argue on behalf of (a bona fide) buyer“. If the 721 was here and claimed
that he bought it from the 7v7yn (and then sold it to the p°11n), the p>1nn would receive the
field, since it is a 7w Any W*w apin. Now even though the 72w is not present, we argue
on behalf of the np1? — P1nn, that if the 121 would be here he would claim that he bought
it from the 7v7yn, and coupled with the 7117 of the P17 it would be sufficient to remove

® In this answer we can again assume that the 7v°% from 717 W is that the P becomes a prmn.

" See X"y0,% 1p5.

¥ There are three people involved here: The 75 ¥» who can prove that he was the original owner (more than
three years ago), the °1m who is presently in the field and brings 0*7v that he was there for three years, and
the 121, from whom the P 1rin (allegedly) bought the field. The >1rn claims that the 721 bought the field
originally from the 7v7vn, and then sold it to the p>1rin. The 7217 is not presently here.

? It is considered a mvv MY RW 7217, since the P 1 himself is not sure whether the 2121 actually bought
the field from the 2y7yn and subsequently that the field is his.

10 See 2,871 1pb.

" This ruling is to protect innocent buyers. When someone buys a field, he cannot be certain how the field
came to be in the possession of the seller. There is always the concern that some original owner will claim
that he never sold it to the seller. The new buyer will be at a loss. Therefore 7"°2 steps in and argues on
behalf of the last buyer, that his seller bought the field from the original owner.
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the property from the mwA of the 7y yn. In our case however, the P> could not prove
that the 701 ever lived in this property, therefore he is not a bona fide n?17; he may have
been duped by a swindler (or there was no "2m" at all, it is a fiction created by the
125v11m). 7"3 therefore will not argue on his behalf that the 791 bought it from the
B9y, The pimn is also not claiming that he was present when the 71212 allegedly bought
the house from the y7vn.

N® IN 779197 ;7327 OR Y70 89 — and therefore the P> does not know whether

his 721 bought the property from the “y7v2 or not. When he claims X171
727 71217 70121, he does not mean that ‘I know that he bought it from you™ —

7% 22K 5777 XK — But rather he claims that this is what his 10 said to
him (the p1n). The p>1in claims that his 72 told him that I (the 721) bought it from
the avayn. This is called a 71vv 7nY XY 7P, because even if we believe what the i
says, we do not know for sure (as the P11 himself does not know) that the “y7vn ever
sold the field!

We can now understand that the X3 argues that even in such a case where the P 1
claims that he bought the field from someone who bought it from the 11 it should be a
valid 7pm. The reason is that since we derive from 7vmi 7w that in three years he
becomes a '*p1mn, and he is claiming that he bought it, the onus of proof should be on the
7v7vn that he did not sell it to that 73w. Until the 2y ¥n proves otherwise, it should
remain in the mw" of the Pnn.

mooIn has a different question:

[2mmax 32 Pwnw] 2295 790 — The R"awA is baffled concerning -

(2w 8,75 Nnp X33) DA TXID P52 10 XOpanT N7 — that which the X3 queries in
BAT7 7295 7D regarding the three day requirement to establish a 7977 MW

R723 7KDY R X710 97IORY R — is it to establish the ox as a habitual gorer,
or is it to establish the person as a habitual derelict in his duty to control his ox.
This is the query in ‘2377 795, The question is —

X2 wwen — Resolve the query from the X723 here -

TYMT MY 7 RWIR 9997 mRp7[ 1] — since the RWIN 95917 say; ‘just as a
TR I —

"2 See “Thinking it over’ # 2.

"> When the 197 was X1 71 12 77 there is some connection between the 727 and the property, therefore the
npY? was acting within reason when he purchased the property. He is a bona fide np17. In such a case 7" is
np12% Wi, However if we cannot associate the 121 with the property, we do not know that the 131 had any
connection with the property; it is possible (and probable) that the P11 bought the field from a person in
the street. It was extremely careless and unreasonable on the part of the p*11n to buy a field from a person
who has no known connection to the property. This p°1n is not a bona fide np1?; therefore there is no 111ww
b,

' The X1 stated that we derive from 7917 M that "> NWA2 % XR™PY (WIWR) 121 DWW 9 pol.

15 See 2" 171,58 77 2,71 2" 'O,

'® The X3 there in "2 explains that the difference 79%7% between these two options is in a case where 077y
came at one time and testified that this ox has already gored three times. If we maintain X710 *7W°X?, then
the ox becomes a 7y immediately, and the next time he gores he is 791 "m>wn1a 2n. If, however we
maintain X123 *T13°K?, then since the owner was warned merely once, he is not obligated yet to pay *m>wn
vy for the next am°Al, until the owner is warned three times.
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NTsAl A A 1992 — since he gored three times —

"=12 ;9% Xpe1 — he is extracted, etc’ from being a an and he becomes a 91, We
can derive from their statement that the three days is X0 *T¥K5.

X933 S7WOKY 9R7 — for if the purpose is '*X723 S798Y; the owner -

DOYOAN ORI TY TV KD — is not a 7% until the fourth o -

MINNT2 M2h 792 K7 18T — for only by the fourth 7m°a1 is the owner a 79
to disregard the warnings —

nawYhw a1 nawsT — for when the ox gored the third mma:

2 1907 — and they warned him a third time (once after the first 7731, a second
warning after the second 7m°23, and a third time now after the third 7r°31), the owner -
MR WHR by 12 KXY 197 — did not as of yet disregard three warnings
noyean ays naw 7Y — until the ox will gore a fourth time, only then should the
owner be considered a 79m. The XWX *3917 said 72 ap1 on npimma 9 po1 mmar 2 maw

791 NpIna, however according to the opinion of X723 *7W°RY, the owner ceases to be a on
only after the fourth 1m°33, not the third, as the XX °37177 contend.

MDoIN answers:
R2777 X987 92% wi — and one can say that the X223 here in 2"2 follows the
opinion -

RN STIWONY BRT 82D — of the one who maintains® X110 715°8Y. Therefore
it is understood why the X723 here says 121 N3 A mAIwN.

mooIn however anticipates the following question. The query of X0 *TWK? or TR
X723 is raised by the 27X, If the XWX "39177, who were 0°Xan, state that MM '3 mawn
"33, that would imply that the RwIX °3937 maintain that it is X0 *7W°R?, how can there
then be a query by the 2°X11%X if it is X723 *7W°RY. NN responds:

2R KD RN 0937 — and the XX 959377 did not say the statement that = s
121 MIMPAI A AR TVNa -

TYVAT MWR 19287 K9K — but rather they merely said that we derive 's npin
01w from T W

21 891 — and they did not say any more. The statement of maw 113 7977 MW 7w’
421 M°a1 3’ was not made by the XX °2717 but rather by the X737 n°210 here, who indeed
maintains 870 *7¥°R?. However the 8723 *713°K? 7"» will maintain —

R9237 MIRONT whwn 189 — that we derive 2w '3 npin from the
transgressing of the three warnings given to the owner

"7 See n"an M.

'8 oo in this question (as well as in the first answer) assumes X123 *71°X? to mean literally that the owner
must be a 7v7. He (deliberately) ignored the warnings three times.

" moon is seemingly interpreting 131 on NP XY as referring to the owner as a on and a Ty,

20 There are no actual 7"» in "2 who maintain X710 >719°X? or X723 XTW°R?. Rather, mooin is referring to
each side of the query as a 7"n.
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N7IN7 N whwn 89 — and we do not derive 221w '3 01 from the three

gorings of the ox. The 7" of X123 *713°X? would have worded the derivation from MW
Tvmn differently?’.

moon offers a different resolution of the matter:

7 — and furthermore; we can say that our X’X10 can be in accord even with the 7"»
of X723 *TYR? —

R923 97IORY RT 18297 — for even according to the 7' of X923 y7IRY —
MPTMR W IX PR — it is not required that it should be established —
MRINT2 Map® — that the owner is disregarding the warnings, i.e. that he
must disregard the warnings three times before it is considered X123 >7%w°x>. This is not
S0. —

19 aR7 — for if this were so, that according to the X723 TW°X> 7"», the person does
not become a 7¥1 until he disregarded three warnings, then the ruling should be —

29179 K9 nownn Al TvT — that until the fifth goring, the owner should
not be obligated to pay full damages of a Tv1. At the fourth goring the owner was
not as of yet a 7vm. The owner will only be a 7 if he disregarded three warnings.
Before the fourth 7m°21 he has only disregarded two warnings, the ones after the first and
second 731, He will have disregarded the third warning only after the fourth ama. It is
only then that he is a 7. Therefore, he should be 21 a 07w P11 only on the fifth fm°a
after it was established that he is a *79m. Since everyone agrees that he is 21 even on
the fourth 7731, therefore it is obvious that X123 *T¥y°RY, does not meant that the owner
must be a MRINT2 NW? TIMN.

XX — but rather the meaning of X723 >71¥°X> means that —

MAWS AYD 993 YMYSTIW 799X — it is necessary to inform”™ the owner every
time his ox gores —

R s 970 — in order that he guard his ox. The warnings to the owner are
simply to make him aware of his ox’s doings, so he should not claim later I was not
warned sufficiently. Three warnings are sufficient.

2177 9512 — but nevertheless, even if we maintain X723 *7W°KY —

X"%n " w7 X211 — the obligation of payment for the damages of the ox
depends on the fact—

2! Perhaps he would have said 121 an npmm KX NIXINT '3 9 729w 7P TR MY 71, or something similar.

2 mpoin in his question (as well as according to the first answer) maintains that even if X123 *T19°X? means
that it is necessary for the owner to be a NIXINT2 M2 T30, nevertheless he would be 7y "m>wna 210
even after the fourth 7r 1. The reasoning is that when the owner was warned after the third 717°31 the owner
was warned three times and has already disregarded two of these warnings ('3 "2 mn1); when the '7 m
actually occurred it was because the owner already disregarded the third warning, hence he is a M2y 7911
mxnT2 even before the fourth 731, by allowing his ox to be ra1 the fourth time (0"nn2 “). The second
answer of NN, however will maintain that in order to be 7X7N72 712 the ox must actually inflict a
damage for which it is liable. The mere fact that his ox was not being watched is not sufficient to consider
him a 7% 072 791, Therefore the X723 will not become a 7¥17 until after the n°y°27 71°31 and will not be
liable for w"1 until the N> nr [na.

3 The term *T9°X> (at least according to the X123 *11W°X> 7"») would mean to warn or testify as in nX7v7
0’7y, but not in the usual term of 7y that he is habitually derelict.
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navh PR na — that the ox became accustomed to gore. Therefore as soon
as the ox gored three times and the owner was warned three times he is 22w P11 2n, even
though the owner was not established as a 7¥m. It is the MW who is the 77 not the
owner.

Summary
The question 121 P17 7NYA X9X, can be understood in two ways. A. It should

be considered as a 77°m, on part of the 2y wn. B. If the po1in claims R°1991
73°n 171217 70121, he should be believed even if it was not >7°7 2 and also not
N2 70 7°2 A7,

The X77237 n°A0 that states 121 an NP XYY MIMAT '3 720 100, can either go
according to the 7"n of X7 XTY°RY, and it was not said by the R¢IR *2717; or
it was said by the X 5917 and even the 7"n of X923 7W°KX%, does not
require that the owner should be a MXN72 MWL T9N.

Thinking it over

1. moon explains the question of "1 7P 7NYA ROX in two ways. What
answer does the X1 give to this question according to each of these
explanations?

2. In the case of "1 70121 X°1997; what would be the 1°7 if the 1 has a
valid " from the 25%; would we say 19 1wy

3. Why does the X"2w" ask his question after the X3 asks 7™ Inyn KON
"3y, the question should be asked when the X3 previously stated =W nn
121 NIMA1 A IR T3Ian?

2* See footnote # 12.
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